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QUESTION

The set of real x satisfying the inequality )

[a, ). The value of ‘a’ 1s

(@) 2 (b) 4
(c) 6 (d) 8
‘5\-39.% < X _5 f [0 —4x £ 2-3¢
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h-2%x <« % - 3D § < «
vy . [@7 [a,0)
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(@)

QUESTION

5-2x X

<Z-5is ANSWER : (d)

The set of real x satisfying the inequality

[a, «0). The value of ‘a’ 1s
(@) 2 (b) 4
(c) 6 (d) 8
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QUESTION

If 1.5 < x<4.5, then which one of the following 1s correct?
INDA/NA 2020-1]

@ 2x-3)2x-9)>0 (b) (2x-3)2x-9)<0
(c) 2x-3)2x-9)=0 (d) (2x-3)2x—-9)<0

[§ 43 £ 45 @/ —f?—' S

3 <

;?—51"‘-3—- 3 < 9
JL 2 8

3 <z / 7(-4—_?-

- = d1-3 20
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QUESTION

If 1.5 < x<4.5, then which one of the following 1s correct?
INDA/NA 2020-1]

@ (2x-3)2x-9>0 (b) (2x-3)2x-9)<0
© (2x-3)2x-9>0 (d) (2x-3)2x-9)<0

ANSWER : (d)

EXAMS
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QUESTION

What are the linear constraints for which the shaded area @ Xty = §
in the above figure is the solution set 7 [NDA/NA 2007] \ e :
§ (Meck/y (ﬁr orHiI /om)y‘ (o, 9))

0
b+(e) 8

0 -0

X !
bﬁ//%»{ﬁ/

(@ x-y=2l;x+2y<8x+y=2Lx,y=0 V! X
(b) x-y<Lx+2y=28 x+y<Lx,y=20 v X A4y -
/(c) X-y<Lx+2y<8 x+y=2Lx,y=20 / \/ =

(d) x-y<Lx+2y<& x+y<Lx,y=0 (Ow&‘/\n J’/;e)U/a( 'nof fﬂ?‘f%j
6+0 —40_?/ /KW_Z/
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QUESTION

What are the linear constraints for which the shaded area
in the{afbnve figure 1s the solution set 7 |[NDA/NA 2007] ANSWER : (c)

(Ei=]

v
e

(@) x-y=2Lx+2y<8x+y=21x,y=0
(b) x-y<Lx+2y=28x+y<Lx,y=0
(c) x-y<Lx+2y<8x+y=2Lx,y=0

(d) x-y<Lx+2y<8x+y<lx,y=0
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QUESTION

1/x
The solution set of the inequality gx+2 [L] 18
P

(ﬂ) {"'21 U) (b} ("21 2)
(€) (-5, 3) (d) (0, )
v
A
1 -2
5 1o > ( 3 )L
5” 1 5, 57z

Xt37 -2
L I
(%fo?-f 2)70/“ (P for
x x7o)




NDA 1 2025 — LIVE CLASS — MATHS — PART 2
QUESTION

1/x
The solution set of the inequality §%*2 - [L] 18
2

(ﬂ) {“21 U) (b} ('_'2:' 2)
(€) (-5, 5) (d) (0, )

ANSWER : (d)



NDA 1 2025 — LIVE CLASS — MATHS — PART 2

QUESTION

Which of the following linear inequalities satisfy the

shaded region of the given figure.

L x+2y<8V I x=20,y=20v
. x£0,y<0 IV 2x+y<8 v
A 41+5y£4UJ
Y
i)
A
7
61
v\i'
31
2
] -
X’ —
OL 1234056738
Y.I"
(a) 1, I and V (b) LIVand V.
© LIlandIV @ LILandIV

(Ei=]
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QUESTION

Which of the following linear inequalities satisfy the

shaded region of the given figure.

L. x+2y<8 I xz0,y=0
. x£0,y<0 V. Zx+y=<8§
Vo odx+5vy<40

Y

h

Sozper,

31
24
14
X’ =
OL 1234056738
v
(a) L, I and V (b) LIV andV

(©) I, 1 and IV (d) 1, 1L, and IV

(Ei=]

ANSWER : (b), (d)
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QUESTION

Consider the following statements:

Statement-1 : The solution set of the inequality

— — — < 5\ — Z -
3(: 2)55(23 ) ko~ @ 7(x-3) < (2 z) < —
o 7 ;g
Statement-II : The solution set of the inequality — 7))
x-1¢ 2 50 ~ ” —
1[3—K+4] > Lx—6) is (o, 120] / 0 __’ ("O)
2.5 -3 : ‘

Choose the correct option.

39 £ 6¢
(a) Statement I is true

(b) Statement II is true / X ﬁ "? 4 (_- 00/ 2:]

(c) Both are true
(d) Both are false

@ L[ 3 +y) > L[H) 4z 10X -9x

) 3 ? 30 30

= +3 2 L1~ /40 2 %
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QUESTION

Consider the following statements:

Statement-1 : The solution set of the inequality
3(x —2) < 5(2 - x)
5 3
Statement-II : The solution set of the inequality

is (—co, 2).

1{3x 1 _
2[ 5 +4] > 3 (x —6) 15 (—oo, 120].
Choose the correct option.

(a) Statement I is true

(b) Statement II is true

(c) Both are true

(d) Both are false

ANSWER : (b)

(Ei=]
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QUESTION

Which of the following is/are true? IMI. The solution set of the inequalities x + vy > 4,
I The graphical solution of the system of inequalities 2x —y>0is
3x+2y<12,x>21,y> 2 is v
M
Y F\' -  /

\H'\ M
\ ¢
\ X'€ 0 \}X

X'€ 5 > X x+y=4
2x—y=0 N
Y!

xt2y=12 (@) Only I is true (b) I and II are true
(c) I and IIT are true (d) Only III 1s true

A
/
v
e
Il
-

Ty

b
v/ x=1

II. The region represented by the solution set of the
inequalities 2x + y > 6, 3x + 4y < 12 is bounded.

(Ei=]
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The graphical solution of the system of inequalities \/
3x+2yL12,x21,y22 18

N A A e

PN
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X'€
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II. The region represented by the solution set of the
inequalities 2x + y = 6, 3x + 4y < 12 is bounded.

/ )
rpee 3“‘//%—&
/ L/
(3/9), (0/6) (%07/ (O’ 3)
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IMl. The solution set of the inequalities x + y > 4, D(

2x—y>01s —_—
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QUESTION

Which of the following is/are true? IMI. The solution set of the inequalities x + y > 4,
I The graphical solution of the system of inequalities 2x —y>0is
3x+2y<12,x>21,y> 2 is v
M
Y ‘\ ~  /

\ ¢
\ X'€ 0 \}X

X'€ 5 > X x+y=4
2x—y=0 N
Y!

xt2y=12 (@) Only I is true (b) I and II are true
(c) I and IIT are true (d) Only III 1s true

A
/
v
e
Il
-

Ty

b
v/ x=1

II. The region represented by the solution set of the
inequalities 2x + y > 6, 3x + 4y < 12 is bounded.

ANSWER : (a)

(Ei=]
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Given thatx, y and b are real numbers andx < y, <0, then
x oy ¥
e N i
X ¥y x .y
- d —_
© 375 / @ 555

Z<(>(

2 /8
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QUESTION

Given thatx, y and b are real numbers andx < y, <0, then

X ¥y x ¥
e e
@ 7<% ® 753
X ¥y x .y
—> = d) —=2-=
© 77% @ 723

ANSWER : (c)
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QUESTION

One of the roots of the quadratic equation ax? + bx + ¢ =0,

a # 0 1s positive and the other root is negative. The
condition for this to happen is

@ a>0,6>0,c>0 o (b) a>0,6<0,c>0 o
(©) @,bbﬂ,c{[)o( (d) a<0,¢>0

o 0';@9%<0 —:)(»VQ)

A+ ba+t - .
'\ Ufher ¢ /s n'amﬁ'veaa /f vy
of P ” Aofs 1D oS +ve)

Ao (+ve) PO () o

Pf/@-——+_.ve, < 0
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QUESTION

One of the roots of the quadratic equation ax? + bx + ¢ =0,

a # 0 1s positive and the other root is negative. The
condition for this to happen is

(@) a>0,b>0,c>0 (b) a>0,b<0,c>0

(c) a<0,6>0,c<0 (d) a<0,c>0

ANSWER : (d)
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